
FORMULE

DERIVATE ŞI INTEGRALE

I DERIVATE

(xn)′ = n · xn–1 (u(x)n)′ = n · u(x)n–1 · (u(x))′

(ax)′ = ax · lna (au(x))′ = au(x) · lna · (u(x))′

(ex)′ = ex (eu(x))′ = eu(x) · (u(x))′

(lnx)′ = 1
x (lnu(x))′ = 1

u(x)
· (u(x))′

(loga x)′ = 1
x·lna

(loga u(x))′ = 1
u(x)·lna

· (u(x))′

(
√

x)′ = 1
2·
√

x
(
√

u(x))′ = 1

2·
√

u(x)
· (u(x))′

( n√x)′ = 1

n·
n√

xn–1
(

n√
u(x))′ = 1

n· n√
u(x)n–1

· (u(x))′

(cos x)′ = – sin x (cos u(x))′ = – sin u(x) · (u(x))′
(sin x)′ = cos x (sin u(x))′ = cos u(x) · (u(x))′

(tan x)′ = 1
cos2 x

(tan u(x))′ = 1
cos2u(x)

· (u(x))′

(cot x)′ = – 1

sin2 x
(cot u(x))′ = – 1

sin2u(x)
· (u(x))′

(arccos x)′ = – 1√
1–x2

(arccos u(x))′ = – 1√
1–u(x)2

· (u(x))′

(arcsin x)′ = 1√
1–x2

(arcsin u(x))′ = 1√
1–u(x)2

· (u(x))′

(arctan x)′ = 1
1+x2 (arctan u(x))′ = 1

1+u(x)2 · (u(x))′

(arccot x)′ = – 1
1+x2 (arccot u(x))′ = – 1

1+u(x)2 · (u(x))′

OPERAŢII CU DERIVATE

x′ = 1

(f(x) + g(x))′ = (f(x))′ + (g(x))′

(f(x) – g(x))′ = (f(x))′ – (g(x))′

(f(x) · g(x))′ = (f(x))′ · (g(x)) + f(x) · (g(x))′

(
f(x)
g(x)

)′ = (f(x))′·(g(x))–f(x)·(g(x))′

(g(x))2

((f(x))(g(x)))′ = (g(x) · (f(x))g(x)–1 · (f(x))′ + (f(x))(g(x)) · ln(f(x)) · (g(x))′
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II INTEGRALE∫
xndx = xn+1

n+1
+ C∫

axdx = ax

lna
+ C∫

exdx = ex
+ C∫

1
xdx = lnx + C∫

1
x2–a2 dx = 1

2a
· ln| x–a

x+a | + C
∫

1
x2
+a2 dx = 1

a · arctan x
a + C

∫
1√

x2–a2
dx = ln|x +

√
x2 – a2| + C

∫
1√

x2
+a2

dx = ln|x +
√

x2
+ a2| + C

∫
1√

a2–x2
dx = arcsin x

a + C
∫

sin xdx = – cos x + C∫
cos xdx = sin x + C∫

1
cos2 x

dx = tan x + C
∫

1

sin2 x
dx = – cot x + C

OPERAŢII CU INTEGRALE∫
(f(x) + g(x))dx =

∫
f(x)dx +

∫
g(x)dx + C∫

(f(x) – g(x))dx =
∫

f(x)dx –
∫

g(x)dx + C∫
α · f(x)dx = α ·

∫
f(x)dx + C unde α este o constantă
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